Connection competitor Quick-Cross

PHGENIX . 7 . w N AL IR HD
Type ICONTACT Weidmiiller 3= @ Allen-Bradley v+ wieland Al:ﬂ I
3044076 ut2s 1020000000 wou 2.5 1492-J3 57.503.0055.0 wk 25 5) 1SNK505010R0000 zs4
3044089 ut 258U 1020080000 wou 2.5 BL 1492-33-B 57.503.0055.6 wk 2.58LAU |5 1SNK505020R0000 zs4-8L
12 AWG 3044092 ut 25-PE 1010000000 wee 25 1492-3G3 57.503.9055.0 wk 2.5sL 5) 1SNK505150R0000 zs4-Pe
3044636 uttB 25 1021500000 wok 2.5 1492-JD3 57.403.7055.0 wkn25E 5) 1SNK505210R0000 zs4-p2
3214259 ut 2531 1615270000 mak 2.5 1492-JT3M 57.503.8855.0 wk25-30 |9 1SNK505212R0000 zs4-13
3044102 ut4 1020100000 wou 4 1492-J4 57.504.0055.0 wk 4 5) 1SNK506010R0000 zss
3044364 ut 4-TwWIN 1905140000 wou 41zR 1492-34Q 57.504.5055.0 wk 4 p1/2 5) 1SNK506011R0000 zs6-3s
10 AWG 3044571 ut 4-QUATTRO 1905060000 wou 4/zz 1492-J4TW 57.504.5155.0 wk 4 p2/2 5) 1SNK506012R0000 zse-4s
3044115 ut4su 1020180000 wou 4 BL 1492-J4-B 57.504.0055.6 wk4BLAU |5 1SNK506020R0000 zs6-8L
3044128 ura-pe 1010100000 wee 4 1492-JG4 57.504.9055.0 wk asL 5) 1SNK506150R0000 zss-pe
3044814 utte4 1041900000 wok an 1492-JD4 57.504.7055.0 wk4E 5) 1SNK506210R0000 zss-p2
3044131 ute 1020200000 wou e 1492-J6 57.506.0055.0 wk e 5) 1SNK508010R0000 zs10
8 AWG 3044144 utesU 1020280000 wou 6 BL 1492-J6-B 57.506.0055.6 wkeBLAau |5 1SNK508020R0000 zs10-BL
3044157 ute-pe 1010200000 were 6 1492-JG6 57.506.9055.0 wk 6 sL 5) 1SNK508150R0000 zsio-pe
6 AWG 3044160 ut 10 1020300000 wou 10 1492-J10 57.510.0155.0 wkn 10 5) 1SNK508010R0000 zs10
3044173 ut 10-PE 1010300000 wee 10 1492-JG10 57.510.9055.0 wkn1ost |9 1SNK508150R0000 zsio-Pe
4AWG 3044199 ut 16 1020400000 wou 16 1492-J16 57.516.0155.0 wkn 16 5) 1SNK510010R0000 zsi6
3044212 ut 16-PE 1010400000 wee 16 1492-JG16 57.516.9055.0 wkniest |9 1SNK510150R0000 zsie-Pe
1/0 AWG 3044225 utss 1020500000 wou 35 1492-335 57.535.0155.0 wkn 35 5) 1SNK516010R0000 zs3s
Disconnect |3046139 utamr 7910180000 wTr 4 1492-JKD4 57.504.2055.0 wk 4 Tkm 5) 1SNK505310R0000 zss-s
3046032 UT 4-HESI (5%20) 1763940000 wrr 2.5/s1 1492-J6FB2 57.904.5355.0 wk arthsis |5 1SNK506410R0000 zss-sk
Fusible 3046090 uT 4-HESILED 24 1763950000 wtr2ssio | 1492-J6FB224 57.904.5555.0 wk 4tHsis |5 1SNK506412R0000 zs4-sF-R1
3046401 ur 6-HESI (6.3x32) 1886580000 wsi4 1492-J6FB1 57.904.6355.0 wk 4THsI6.3 |5 1SNK508418R0000 zs1io-sF
3031212 st2s5 1608510000 zpu 2.5 1492-L.3 56.703.0055.0 wkrFN 2.5 280-901 cAGE cLAVP®
3209510 pr2s Y 2 3 2002-1201 Topsoses 1SNK705010R0000 22
3031241 st25TWIN 1608540000 zpu 2.5/3AN 1492-L3T 56.703.5055.0 wkrn 25p12 | 280-681 CAGE cLAMP®
3209549 Pt 25-TWIN H 2 3 2002-1301 Topioses 1SNK705011R0000 zk253p
3031306 sT25-QUATTRO 1608570000 zpu 2.514AN 1492-L.3Q 56.703.5155.0 wkrN 250272 | 280-833 CAGE cLAVP®
éf)rﬁ]vg\’l/G 3209578 pT 25QUATTRO 1) 2) 3) 2002-1401 Toms0BES 1SNK705012R0000 zk2.5-4p
- 3031225 st258U 1608520000 zpu 2.5 BL 1492-L3-B 56.703.0055.6 wkrn258L | 280-904 cAGE CLAMP®
Push- !
usin 3209523 pr2s8y Y 2 3 2002-1204 Topsoses 1SNK705020R0000 225t
3031238 st25-PE 1608640000 zre 2.5 1492-LG3 56.703.9055.0 wkrn2ssL | 280-907 cAGE cLAMP®
3209536 PT25-PE D 2 3 2002-1207 TopPjoB®S 1SNK705150R0000 zkzspe
3031270 st1B25 1674300000 zok 2.5 1492-LD3 56.703.7055.0 wkrn2sE | 280-513 cace cLAavP®
3210567 pris2s Y 2 3 2002-2201 Torsoses 1SNK705210R0000 2502
3031364 sT4 1632050000 zou 4 1492-L4 56.704.0055.0 wkrn 4 282-901 cAGE cLAvP®
oawe 3211757 ers 1896110000 pou 254 2 3 2004-1201 Topsoses 1SNK706010R0000 2t
. 3031393 sT4-TWiN 1770360000 zpu 4-2/3AN 1492-L4T 56.704.5055.0 wkrn4Dv2 | 282-681 CAGE CLAMP®
oPind 13201771 prawm 1896120000 pou2saan | 9 2004-1301 Topaones 1SNK706011R0000 zct-»
3031445 st 4-QUATTRO 1806980000 zpu 4-2/4AN 1492-L4Q 56.704.5155.0 wkrn4D22 | 2004-1401 Torioses
3211797 pTaquATTRO 1896130000 pou 2544y |2 3 o 1SNK706012R0000 zce-4p
8 AWG 3031487 st6 1608620000 zou e 1492-L6 56.706.0055.0 wkrn 6 284-901 cAGE cLAMP®
Spr./P-| 3211813 pr6 1896140000 Pou 610 2 56.206.0055.0 wip 1o | 2006-1201 Topsosas 1SNK708010R0000 z¢s
Fusible 3036369 ST 4-HESI (5x20) 1616400000 zsi2s 1492-RFB4 56.704.4055.0 wkrnaTke | 281-611 cAGE cLAvP®
Spr/P-l 3211861 prasesiso) | 1083050000 psisio ) 9 2002-1611 Torioses 1SNK706410R0000 zz5-se
3047028 p-ut25/10 1050000000 wap 2.5-10 1492-EBJ3 07.311.0255.0 5) 1SNK505910R0000 es4
Eggtions 3047293 p-utTB 254 1059100000 wapwok 25 |1492-DBJD3 07.311.4055.0 5) 1SNK505960R0000 Ess-p2
3030417 p-st2s5 1608770000 zap/tw 2 DB 1492-EBL3 07.312.6755.0 aprn2s3s  |2002-1291 1SNK705910R0000 ex25
End st 0800886 ENs35N 1061200000 wew 3512 1492-EAJ35 75.523.8553.0 97082535 | 1SNK900001R0000 sam3
nd stops
P 3022218 cuipFix 35 9540000000 zew 35 1492-ERL35 75.523.9453.0 wer 2/35 249-116 1SNK900002R0000 eaz1
3030161 res 25 1053660000 wqv 2.5/2 1492-CJLJ5-2 Z77.280.2227.0 wewk 252 |2002-402 1SNK905302R0000 J8s-2
Jumpers 3030336 res 26 1051960000 wqv 412 1492-CJLJ6-2 Z77.281.1227.0 wB wk 42 2004-402 1SNK906302R0000 3s6-2
3030271 rBs 106 1052060000 wqv 410 1492-CJLJ6-10 77.281.2227.0 wvswk 412 |2004-410 1SNK906310R0000 Jss-10
Blank 0818108 uc-TMs 1609860000 wsizsmcne |1492-M5X12 Z4.242.5053.0 9705 As10 | 248-501 1SNK149999R0000 mcsi2pa
markers 0818085 uc-tmse 1609900000 wsizemcNe |1492-M6X12 Z4.242.6053.0 9705 6110 | 248-501 1SNK159999R0000 mcs12pA
Pre-marked |0805739 zBaLcs 0518960001 pek 6 Fwz 110 |1492-M6X12-H-1-10 04.846.0153.0 9705 A6/10 | 793-5502/000-007 1SNK150011R0000 mce12pA
cards 0805807 zBaqQr 0133360001 pekersz1-10 |1492-M6X12-V-1-10 4 793-5602/000-007 1SNK150012R0000 mcs12pA
DiN-rail 0801733 Ns 35/7.5 PERF 2M 0514500000 Ts 35x7.5/LL 199-DR1 98.300.1000.0 210-112 017322005 Ts35/F6 PR30 2M
-rai
1201730 Ns 35/15 PERF 2M 0236500000 Ts 35x15/LL 1492-DR9 98.370.1000.0 210-197 010159826 Ts35/CF6 PRS0 2M

1) Weidmilller push-in offering starts at 10 AWG. 2) Allen-Bradley offers no push-in solution. 3) Wieland no UL solution below 8 AWG. 4) Wieland custom solutions only. 5) Wago screwless termination only. 6) Wago no CAGE CLAMP® solution.

Disclaimer: this cross-reference is intended for comparison purposes only. All products should be selected using product-specific documentation. ABB, Inc. does not accept

AL 1D D
Y ]

Technical Support:
Phone: (888) 385.1221, Option 4
Email: lvps.support@us.abb.com

INTERNAL USE ONLY

liability for errors, omissions, or for the improper selection and application of the products listed above.

11 2015


mailto:lvps.support@us.abb.com

